TI6E FHAIKES

iy E BER
R B TR108 | 2R14B | 3A11H | 5R228 | 6A128 | TAI0H | 8ATH | 9ATIE | 10R166 | 11A6H | 12848
BKEH Far| 11:50 145 150 9:31 9:30 955 9:38 [RE] 70:01 13:02 12:24
IE_?RH:! [€.1:3) £ o|l%x o|xk o]K O[K oO][XK O|EK L[R O[FKR O[RKR D[EK D
B3] f ) L] L] f ) L] L] L] L] [ ) L] L]
KEL 7.25 7.28 7.37 7.66 747 7.48 7.54 7.4 7.5 7.60 7.2
£33 - - - - - - - - - - -
5 [EXE 0.42 0.51 0.61 0.90 1.07 0.95 0.67 0.92 0.94 .07 0.96
W [BAKR m| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
w [R&E | 49 13.2 8.9 20.7 7.5 7.5 31.0 77.8 71.5 5.8 1.9
A (k& | 3.6 [ [X] 15.9 16.9 20.0 23.4 20.9 16.6 4.8 8.5
= A (1) Oko&R) ®EED | REEN | KEEN | KEED | KEEY | KEED | MELE | HEED | KEEY | KEEH | KeEH
B SME (2) (FER) &3 &3 &3 &3 &3 &3 &3 &3 &3 &3 &3
B (3) OKWRiR) - - - - - - - - - - -
HE (4) (20i) - - - - - - - - - - -
CENE ) £ =% =2 =|® £ 2% =2lx =2|lxE =|Ix =ZIx =2lEm =
BERE on| _ >100 100 100 100 100 100 100 5100 5100 100 100
[ ) S B B S S B B B B B
TE|pH A 73 75 T4 75 T4 7.6 73 T4 T4 T4
3%[BoD me/L| 1.0 13 12 0.5 0.5 0.5 0.5 0.6 0.5 0.5 0.5
BECOD me/L| 1.3 1.7 1.3 1.5 1.4 1.3 1.6 1.2 11 1.0 1.0
anss e/l <1 3 3 3 3 3 7 3 3 3 3
am[DO mg/L| 12.3 2.4 12.2 10.8 10.5 9.6 8.6 9.2 10.1 10.0 2.1
2 [ABEER (1) WPN/100m 7 7 7 3 26 36 96 57 57 37 %
B < [BER me/L| 0.2 0.15 0.14 0.18 0.15 0.18 0.28 0.21 0.22 0.22 0.17
B[Ey > me/L| 0.007 0.007 0.008 0.014 0.008 0.006 0,011 0.008 0.005 0.009 0.008
BFESOL mg/L|_<0.0003 - - - - <0.0003 - - - - -
@7 mg/L| <01 = = = = 0.1 = = = = =
3 mg/L|_<0.005 - - - - <0.005 B B B B B
67 N4 me/L| <0.01 = = = = 0,01 = = = = =
=3 mg/L|_<0.005 - - - - <0.005 B B B B B
[Z3] me/L| <0.0006 = = = = 30,0005 = B B B -
A |[TrELRE me/L|_<0.0005 - - - - <0.0005 B B B B B
o [PcB me/L| <0.0006 = = = = 30,0005 = = = = =
® [Srooisv mg/L|_<0.002 - - - - <0.002 B B B B B
LT me/L| <0.0002 B B B B 30,0002 B B B B B
g 1.2-5/ 0015 o we/L| <0.0004 = B B B <0.0004 B B B B B
B [=omRzziy me/L| <0.002 = = = = 30,002 = = = = =
= [PRASsmazFry mg/L|_<0.004 - - - - <0.004 - - - - -
M [Ti-rusnnzs> me/L| <0.0006 = = = = 30,0005 = = = = =
¥ [ld.2-rysonIsy mg/L|_<0.0006 - - - - <0.0006 - - - - -
3 [rormozzoy me/L| <0001 B B B B 30,001 B B E E E
: FF5/00IF 0> mg/L| <0.0005 - - - - <0.0005 B B = = =
% [13-S/nnJoxy (D-D) me/L|_<0.0002 = = = = 30,0002 = = = = =
a [Fooa mg/L|_<0.0006 - - - - <0.0006 - - - - -
B’ $ITY (CAT) mg/L| <0.0003 - - - - <0.0003 - - - - -
B [FARUINTRoFAD—N) mg/L|_<0.002 - - - - <0.002 B B B B B
RoBY me/L| <0.001 = = = = 30,001 B B B B B
BT mg/L|_<0.002 - - - - <0.002 - - - - -
WRESRRVEWBRBER mg/L] 0.18 - - - - 0.12 - - - - —
So% mg/L|_<0.08 - - - - <0.08 B B B B B
ES5R mg/L|_<0.02 = = = = 0,02 = = = = =
1, a-SXFTS mg/L|_<0.005 - - - - <0.005 - - - - -
g*ﬁiﬂ!ﬁ w5 | - _ _ _ _ _ _ _ _ _ _
F U= LBER mg/L| 0.0 - <0.01 0.02 - <0.01 - <0.01 - <0.01 -
mg/L|_<0.002 = 0.002_|_<0.002 = 30,002 = 30,002 = 30,002 =
mg/L|_0.18 - 011 0.13 - 0.13 - 0.17 - 0.17 -
me/L] 0.0 = 0.03 0.02 = 0.03 = 0.03 = 0.03 =
mg/L| 021 - 0.12 0.17 - 0.18 - 0.20 - 0.20 -
/L - - - - - - - - - - -
= mg/L| 0.003 - 0.006 0.006 - 0.005 - 0.004 - 0.006 -
& mg/L|_<0.003 = 0.005 0.006 = 0004 = 0004 - 0.005 -
% mg/L| _0.006 - 0.006 0.009 - 0.006 - 0.007 - 0.000 -
1t me/l] - = = = = = = = = = =
B [##EEE (TOC) 7 - - - - - - - - - -
B [E®Ecob e/l - = = = = = = = = = =
J00J1)ba ug/L T - < < - < - < - < -
2zX24FY FzFER) ug/L <1 - <1 <1 - <1 - <1 - 3 -
®goOoOo 40 ug/L - - - - - - - - - -
SR me/L = = = = = = = = = =
BMI5 U0 FoBR WAM/n1| 463 - 262 % - 20 - 57 - 9 -
(WIS o Fo 8k a/1 - - - - - 2 - - - - -
soakivh me/L - - - - <0. 0006 - - - - -
F5UZ1.29500TF 0y me/L| - B = = = 0,004 = = = = =
1,2-55/00J0/8Y me/L] - - - - - <0.006 - - - - -
p-—S/OORUEY me/L - = = = = 002 = = = = =
AIXTFHS me/L| - - - - - <0.0008 - - - - -
HAFS/ > me/L - - - - — 0. 0005 = - - - -
Z2x=+AFXY (MEP) me/L - - - - - <0. 0003 - - - - -
1JInFA5 > me/L] - = = = = 0,004 = = = = =
EErs K1 1) me/L| - - - - - <0.004 - - - - -
ZOa80=/L (TPN) me/l] - = = = = 0,004 = = = = =
B [JOe¥sF me/L| - - = = = <0.0008 - - - - -
g [Fmvs (EPN) mg/L - = = = = 00006 = = = = =
" 9 ALKRRX (DDVP) me/L - - - - - <0. 0008 - - - - -
) 2z/FHhLT (BPMC) me/L - - - - - <0.003 - - - - -
470RvkR (1BP) me/L - - - - - <0. 0008 - - - - -
ZOl=—FOoJz> (CNP) me/l] - = = = = <0.0001 = = - - -
(=] me/L| - - - - - <0.06 - - - - -
EA me/L] - = = = = <004 = = = = =
TFELBSIFAANEDIL me/L - - - - - <0. 006 - - - - -
=Tl mg/L| - = = = = 30,001 = - - - -
) I7 me/L| - - - - - <0.007 - - - - -
FUFED me/L] - = = = = 30,002 = = = = =
HoX mg/L - - - - - - - - - - -
FE5%R mg/L - - - - - - - - - - -
QEE RE B <2 0.3 0.2 0.6 0.3 0.6 1.9 0.5 0.6 0.6 0.4
W= ms/m - - - - - 4.3 - - - - -
ton |REEARESK fE/1000L] 18 - < 3 - 36 - 57 - ) -
xR UD me/L] 10 9.1 10 10 13 il 2 13 3 13 3
LIRS ne/L[ - - - - - - - - - - -
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